s 7 A 138 1

P4 -

3T Bk ¢ T BT D R
ﬁﬁ%%ﬁﬁ“"i GRS O F1 T RLETA A TYIR [y
thg'fjﬁ‘ﬁ%ﬂ%ﬁ,l » [ H %UH :Fp £, k—' % ;pitr— R %UEIJ ,

L BRI B B ;jw{gfﬁ’ma%
iR -

42 BT B FAR T IR P R R B R
GRS %—ﬁ%f K8+ P - P # 948
S35 KLU SRR €0 B (2 2 [

Sﬁﬁarpwﬁﬁaﬁmaﬁﬁﬁb@%ﬁﬁas*Emkﬂzﬂ
ﬁémiﬁﬁﬁwﬁw%ﬁ%@ﬂ’ﬁﬁﬁ@mﬂﬁﬁﬁ?%ml%
Po Rl fOBIE S T WP R 3E e

2013 % 3 E|RRSRE SR AT (=BT

i m O RTH

~ R R AR

T*ﬁgf‘ﬁfiﬂ FYIRCT 2 GRBE AR 2 1 ¢ I R BERER) /(P
%iawW3ﬂu#H¢*ﬂﬂwmam¢ LRI D - P
HB/C08.22/(p) 3626-1 = 7 ¥ & (LA ~ A BEEV) /(H)M = P ~ A5 £
SR P EUR Rl = JemE - TR %8R HB/COS, 22/(p)3626

FHEHGEE TR FE G T ERH
T2 5127 B O [ o BYREL T R B o S SRR s P
Fet FVEGRRRL o PR T e A R S R A IR P (R L
SR o B FL £, FH—“M bR ;{ﬁfj [ Bl = fg'gu%lﬁﬁéﬁ = R Al
BrobevRl s 5 (4 FAP) (50 FARLB) ~ TESERY L AR -
%y\wﬁigﬁvmaﬁ R 0 EIEE I AR R

NI £

AN V13,628 0 BHEEFN 100 FIT 1,363 0 S W 2 02/20 7 1,896 0 9T
Fh 368 * R I 37 Rk LURHER O B BIEE SR 12,710 A9 93%
M FIHIEE L ED > P8R S v 918 A 7% °

= B AR

[t v 3454 [ M 13,878 - TIRIER 10 FIT E'[JEH’P.E“ MR 346
PGP 1,388 > A1 M ISP 40 BHITER % HIE 2 H 19 1T 5490



ﬁ’E?jJ_A =

B 2,261 ] mji?[?ﬂﬁ? BrE 28 2 5] 19 B 1,352 -

EOR qusalll?l ﬁr“ﬁ
12 LT PSR ARET TT1 R AR RS R 217 P AR TR
554 1 -
2.5 ORS¢ Y 139 P~ R E O3 1~ FTERE 60 £ - B F 52
PIJ °
3357 8 PR EE 398 14
ARBBEFCRINT 1 F 2RI L N 2D
S fJIJ“ugt F[l%ﬁgﬁd
g H'%HMJ PERF IR 01 #) 31 FV R A - s B e
103 FEPERPTREE 20 SHPE - B pE s B T PR 1 18 MR
ERRNLS s TAR
2.2 LY R PR R 02 F] 27 Elﬁ;ﬂ U SR
123 FEFERPTFEE 20 i A7 B I PR 1 R 20 K
ERREEE S TR
= DA R AR
ﬁ}jﬁjﬁ%j Eb Y 4B 75 L 2 0 i B ’fﬁ fEf 5 0 o F%I;"j‘,: B [ |
PUEL I P SA R AR L R RE ) R L 2 5P gml o i A
T Skﬁ-pu [ﬁ“4*‘“f22*4h’10kﬁ—ru giie VSR ] MR e
o BT E SRR
[ 7 SR e o RO O R R R T B A
oo fi b R A AL 6 R A YT R LA R e
RN E g S o 2 M RS (R 3 A R T A -
2013 & 2 B[ BI SR A - VG
Hirgae 24- %0
FI il iy 4 SRS | VIR b7
25 1H 62 50 0 1 6 119
I 2 0 0 0 4 3 7
25 3 0 0 0 0 0 0
| 4 0 0 0 6 2 8




